Mul-Pos-L2 Setl!

Question 1 [25 marks] Question 2 [25 marks]
0: 4 x 37 =148 0: 3 x30=90
LH5x6l=____ 1: 2X25=
29x42=_ 2. 7T X T4 =
36x29=___ 3: 8 X b5 =
4:5x36=___ 4: 9 x43 =
5 2XH8=__ 5 7T X 32 =
6: 4 xX28=__ 6: 9 X T7 =
7 8X98=___ 7. 3 X 82 =
& TXTl=__ 8: 9 x 90 =
9 2%x389=___ 9: 3 x 44 =
10: 2X M4 =__ 10: 3 X 53 =
1m:2x30=_ 11: 5 X 87 =
122 0XHd=___ 12 6 X 32 =
13: TxX92=__ 13: 2 X 94 =
14: 3x3dH=__ 14: 8 X 23 =
5: 3X8=___ 15: 2 X 35 =
6: 4x94d=__ 16: 6 X 64 =
1 4x8=___ 17: § X 90 =
18 8X3®=___ 18: 2 X 34 =
19: 5x29=__ 19: 3 X 76 =
200 TX22=__ 20: H X 96 =
21: 8 XHbHh=__ 21: 6 X 41 =
22: 2X2=__ 22: 7 X 42 =
23: 6 X8 =__ 23: O X 82 =
2%4: 2XT3=__ 24: 3 X 70 =
25: 2x40 = 25: 5 X 93 =
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Question 3  [25 marks] Question 4  [25 marks]
0: 9 x 60 = 540 0: 9 X 52 = 468
L2x28=___ 1: Hx 2l =
2 9%xH7T=___ 2. 7Tx35=
32xXx20=__ 32X 83 =
4 3x81l=___ 4 3 x 3l =
5 6x99=____ 5 7% 80 =
6: 9x27T=___ 6: 7 X 56 =
7 2X82=_ 7. 6 X 60 =
8 OX20=___ 8: 3 X 46 =
90X =_ 9: 3 X 97 =
10: 8x37T=____ 10: 2 X 53 =
1m:3xdl=__ 11: 9x 72 =
122 4x30=___ 122 4 X 34 =
13 TxXM=_ 13: 2 X 34 =
14: 8XH7l=__ 14: 7 x 60 =
15:2x36=___ 15: 4 X 99 =
6: 6x20=__ 16: 5H X 78 =
1 2x8=_ 17: H X 32 =
18 9x8=___ 18 9 x 70 =
19:4x41l=_ 19: 8 X 24 =
200 TX8=___ 20: 6 X 36 =
21: OXdd=_ 21: 2 X 83 =
22 4x36=__ 22: 3 X 85 =
23 TXT79=___ 23: 8 X 97 =
24: OXHBHh=__ 24: 7 X 46 =
25: AX T3 =_ 25: 2 X 26 =
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Question 5 [25 marks] Question 6 [25 marks]
0: b x 64 =320 0: 9 x 34 = 306
L6x42=___ 1: 2x53=
28x33=_ 2. 8 X 70 =
32x69=___ 3 7TX22=
4.5x32=___ 4 9 x 86 =
5 3XTO=___ 5 8 X 33 =
6: 3x26=__ 6: 7 x20=
72 4X8=_ 7. 4 x40 =
8 3x30=__ 8: 9 x 89 =
9 4x33=_ 9: 8 X 78 =
10: 9x76=____ 10: 4 X 51 =
1m:2x32=___ 11: 6 X H3 =
122 3x46=__ 122 6 X 95 =
13: X067 =__ 13: 7 X 68 =
14 0x30=___ 14: TX 78 =
15: 9 x46=__ 15: 7 X 33 =
6 3XTMT=____ 16: 8§ X 52 =
17 5x42=_ 17: 4 X 50 =
18 6x37T=____ 18: 9 x 50 =
19: 9x68=___ 19: 3 X 73 =
200 DX 97 =___ 20: 8 X 91 =
21: 2x30=__ 21: 5 X 20 =
222 3 X4 =__ 22: 5 X 95 =
23 AXT78=__ 23: H X 73 =
2%4: 6xX31=__ 24: 6 X 22 =
25: 4x49=___ 25: 4 X 92 =
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Question 7 [25 marks] Question 8 [25 marks]
0: 8 X 48 = 384 0: 9 x 49 = 441
2x42=__ 1: 4 X 61 =
22 8X65=__ 2 4 x 49 =
39x96=___ 3. 7TX 85 =
4 6xb57=___ 4 4 x 43 =
5 3XTB3=_ 5 DX T2 =
6: 4xXH7T=___ 6: 3 x H0 =
7 6x8=__ 7. 9 x5l =
8 4xb6=____ 8 7x90 =
9. 6x48=___ 9: 4 x 91 =
10: 4x87T=____ 10: 9 x 36 =
1m:8x3l=_ 11: 8 X 35 =
122 4x6l=__ 12: 6 x 37 =
13: 7Tx8=__ 13: 3 X 46 =
4 6x91=___ 14: 8 X 50 =
15: 7T x89=___ 15: 8 X 46 =
16: Hx60=____ 16: 3 X 72 =
17 9x29=__ 17: § X 95 =
18 Tx46=___ 18: 4 x 70 =
190 Tx43=____ 19: 5 X 75 =
200 TX8=__ 20: 4 X 86 =
21: 9xbHh=__ 21: 9 X 84 =
224X 26=__ 22: 2 X 45 =
23: 3X6Hh=__ 23: 2 X 74 =
2%: 3XT8=__ 24: 4 X 38 =
25: 9xH3=__ 25: 3 X 73 =
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Question 9  [25 marks] Question 10 |25 marks]
0: 4 X 62 = 248 0: 7x45 =315
3x42=__ 1: 4 xX82=
29x8=__ 2: 3 X 71 =
39X M= 3. 5 x40 =
4: TX83=__ 4 TXT9 =
5 6x46=___ 5 9 xX 81 =
6: 2x00=__ 6: 8 X 52 =
7 8X20=__ 7. 6 X 59 =
8 3 xY4=__ 8 4 x 26 =
9. 8xdd=_ 9: 3 x 91 =
10: 7Tx8=___ 10: 6 x 90 =
1m:6x33=___ 11: 6 X 89 =
122 8X73=___ 12: 2 x93 =
13: TX68=___ 13: 3 X 22 =
14: 6x43=___ 14: 9 x 29 =
15: 4x89=__ 15: 7 X 45 =
16: 6x39=__ 16: 8 X 33 =
1 8xbd=__ 17: 3 X 60 =
18 2xHl=___ 18: 5 X 82 =
190 7Tx90=____ 19: 5 X 63 =
200 3x39=__ 20: 8 X H8 =
21: 3X83=__ 21: O X 77 =
22 2X46=____ 22: 7 X 88 =
23 3X9Y4=_ 23: 2 X 94 =
2%4: TxX60=___ 24: 8 X 75 =
25: 4x93=__ 25: 8 X 45 =
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Question 11 |25 marks] Question 12 [25 marks]

0: 17 x 37 =629 0: 17 x 34 =578
L 14x30=__ 1 13 x91 =
2 13x9%6=____ 2. 13 x 23 =
32 16x8=__ 3 11 x 20 =
4 15x30=____ 4 14 x 52 =
5 10x93=___ 5 11 X 58 =
6: 16 x48=___ 6: 18 X b2 =
7. 16x66=__ 7. 10 x 39 =
8 13x46=___ 8 16 x 74 =
9 15x 7= 9: 11 x 36 =
10 14x86=____ 10: 18 x 90 =
1m: 12x56=__ 11: 10 X 79 =
12 16 x37=____ 12: 18 X 55 =
13: 13x95=___ 13: 17 X 59 =
14: 11 x89=__ 14: 18 X 65 =
15 18x93=___ 15: 12 X 77 =
16: 14x8 =__ 16: 11 X 33 =
1 16X 77T = 17: 13 X 68 =
18 18x7M9=___ 18: 15 x 83 =
19: 15X 88 =__ 19: 11 X 52 =
200 16x39=__ 20: 18 X 66 =
21: 19 x4l =__ 21: 11 X 94 =
222 11 x4l=__ 22: 18 X 47 =
23 M4 X771 =_ 23: 16 X 47 =
24: 18 x48=__ 24: 16 x 30 =
25: 1I0xb6=___ 25: 10 X 37 =
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Question 13 |25 marks] Question 14 |25 marks]

0: 12 x 21 = 252 0: 18 x 26 = 468
L 16x97=___ 1 12 x 46 =
2 15x34=_ 2. 16 X 78 =
32316 x23=__ 3. 10 x 48 =
4 19x9%6=___ 4 16 x 37 =
5 11 x28=__ 5 12 %72 =
6: 18 x60=___ 6: 18 x 41 =
2 1lx64=___ 7. 14 x 80 =
g 16x42=__ 8 19 x 24 =
9 11 x26=___ 9: 15X 74 =
10: 19x37=___ 10: 16 x 32 =
1 11 x42=_ 11: 13 x 43 =
12 13x31l=_ 12: 19 x 37 =
13: 14xdd=_ 13: 18 X 33 =
14: 16 x62=___ 14: 12 x 61 =
15 14XH7T=___ 15: 18 x 30 =
6: 10 x67T=__ 16: 12 X 33 =
17 16 x50 = 17: 11 x 46 =
18 14x49=__ 18: 18 X 85 =
19: 11 x49=__ 19: 17 x 41 =
200 10 x65=__ 20: 11 x 44 =
21: 16 x84 =__ 21: 19 X 98 =
222 1O X719 =___ 22: 12 X 68 =
23 17x31l=__ 23: 13 X 85 =
24: 16 xX63=___ 24: 10 X 68 =
25: 18 x66=___ 25: 14 X 61 =
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Question 15 |25 marks] Question 16 |25 marks]

0: 12 x 39 = 468 0: 15 x 45 =675
L 17Tx9%6=___ 1 16 x 21 =
2 13x60=___ 2. 17 X 68 =
3 M4 x37T=_ 3. 16 X 85 =
4 18xbl=____ 4: 13 x 82 =
5 17Tx89=___ 514 X 86 =
6: 16 x30=___ 6: 15X 76 =
7 17T x44=___ 7. 13 x 45 =
8 18x43=__ 8: 15 x 78 =
9 16 x73=____ 9: 17 x 23 =
10: 16 x27=___ 10: 16 x 37 =
1m: 14x83=__ 11: 14 x 32 =
12 18 x43 = 12: 18 X 65 =
13 1lx2d=_ 13: 13 X 77 =
14: 11 x66=___ 14: 12 x 20 =
1l x4l=_ 15: 12 x 60 =
16: 18 x42=__ 16: 12 X 46 =
17 17x9=__ 17: 17 x 35 =
18 15x34=_ 18: 18 X 97 =
19: 13 x82=__ 19: 14 x 21 =
200 11 X8 =__ 20: 17 X 63 =
21 10X 77T =__ 21: 10 X 26 =
222 10 x47=__ 22: 16 X 93 =
23 12x20=__ 23: 18 X 89 =
24: 14xdd=___ 24: 19 X 95 =
25: 15 x60=___ 25: 17 X 20 =
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Question 17 |25 marks] Question 18 [25 marks]

0: 19 x 70 = 1330 0: 11 x 50 = 550
L 16x40=__ 1: 19 x 31 =
2 14x66=___ 2: 18 X 87 =
316 x81=___ 3 12 x 32 =
4 13x79=___ 4: 13 x 31 =
5 18x29=__ 5 12 x 28 =
6: 13 x98=__ 6: 17 x 44 =
7. 19x86=__ 7. 12x 34 =
8 19x76=___ 8 19 x 28 =
9 199x79=____ 9: 18 x 52 =
10: 18 xH58=__ 10: 14 x 64 =
m: 14x90=__ 1: 11 x 72 =
122 16 x83=__ 12: 19 x 73 =
13: 10x7M9=___ 13: 15 X 92 =
14: 18%x27T=__ 14: 10 X 79 =
15: 10x9=___ 15: 17 X 59 =
6: 11 x31l=__ 16: 17 x 20 =
1 4 x8l=_ 17: 19 X 87 =
18 15 xd68=__ 18: 16 x 40 =
19: 13 x56=___ 19: 12 X 53 =
200 13x20= 20: 15 X 62 =
21: 17 x8=__ 21: 13 X 25 =
222 11 x37=___ 22: 11 X 22 =
23: 12x32=___ 23: 14 X 58 =
24: 10 x35=___ 24: 11 X 64 =
25: 18 x65=___ 25: 12 X 70 =
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Question 19 |25 marks] Question 20 |25 marks]

0: 15 x 66 =990 0: 13 x 87 = 1131
L 16x6b=___ 1: 19 X 57 =
2 1hx47=_ 2. 18 x 34 =
32 18x8=_ 3. 10 X 96 =
4 15x8=__ 4: 18 x 21 =
5 14x94=_ 5 15 x 72 =
6: 16 x96=___ 6: 19 x 21 =
7 4dxTl=_ 7. 17 x 98 =
8 18x26=___ 8: 16 X 65 =
9 17x63=___ 9: 10 X 96 =
10 100x2l=__ 10: 10 x 28 =
1m: 15x87T=__ 11: 19 X 65 =
122 15 x22=___ 12: 17 x 42 =
13: 11 x92=_ 13: 19 x 83 =
14: 1Tx4b5=__ 14: 15 X 57 =
15: 12x80 = 15: 13 X 93 =
6: 18 x69=___ 16: 13 X 69 =
17 13 x4 = 17 18 x 71 =
18 18x7M9=___ 18: 11 x 49 =
19: 17xX67T = 19: 11 X 76 =
200 17x49=___ 20: 18 X 45 =
21: 18 X665 =__ 21: 12 X 84 =
222 I0x3l=___ 22: 11 x 40 =
23 10X 76=___ 23: 15 X 59 =
24: 19x2l=__ 24: 13 X 37 =
25: 11 xb7=__ 25: 19 X 35 =
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Question 21 |25 marks] Question 22 |25 marks]

0: 12 x 78 = 936 0: 11 x 39 = 429
L 14x9l=__ 1 17 x 26 =
2 12x68=___ 2: 16 X 88 =
323 10x95=___ 3 13 X 96 =
4: 14x22=__ 4: 19 x 65 =
5 19x82=___ 519 x 49 =
6: 16 x63=___ 6: 11 x 63 =
72 14x36=___ 7. 18 X 28 =
g 13 x84 =_ 8 17 x 41 =
9: 12x 88 =___ 9: 16 x 71 =
0 11 x37=__ 10: 12 X 78 =
m: 14x90=__ 11: 16 X 61 =
122 199x 7= 12: 15 X 25 =
13: 18x91=__ 13: 17 X 63 =
14: 19x90=__ 14: 16 X 73 =
15 15 X8 =___ 15: 15 x 80 =
6: 17 x40 = 16: 18 X 25 =
17 14x48=_ 17: 10 X 96 =
18 1bxh2=__ 18: 10 X 75 =
19: 12x49=__ 19: 13 x 37 =
200 14 x56=___ 20: 17 X 73 =
21: 15X 28=_ 21: 15 X 33 =
222 16 x43=___ 22: 13 X 55 =
23 14x8=__ 23: 10 x 90 =
24: M4XxTl=____ 24: 10 X 92 =
25: 1I9x80=___ 25: 14 x 49 =

009 7 September 2014 11



Mul-Pos-L2 Setl!

Question 23 |25 marks] Question 24 |25 marks]

0: 64 x 70 = 4480 0: 51 x 58 = 2958
:68x8 =__ 1: 86 X 88 =
2:00X66=___ 2: 97 X 87 =
306 x8 =___ 3: 61 X 95 =
4 83XT79=__ 4 65 x 90 =
5 63x97T=___ 5 73X 89 =
6: 62x89=__ 6: 83 X 94 =
7. 04X8=___ 7. 83 X 73 =
8 M4 x9%5=____ 8: H8 X 61 =
9.8 x7M0=_____ 9: 79 x 90 =
10: 68 x66=___ 10: 51 X H8 =
1m: 92x66=___ 11: 62 x 70 =
122 86X 79=___ 12: 98 X 60 =
13: 97X T =__ 13: 51 X 86 =
14: 0x63=__ 14: 84 X 98 =
15:05Xx94d=__ 15: 61 X 81 =
6: 4dx7Ml=___ 16: 52 X 62 =
17 94 xd52=_ 17: 72 X B8 =
18 64 xX57T=__ 18: 90 X 97 =
19: 19x8=____ 19: 79 x 94 =
200 1T X7M0=____ 20: 87 X b2 =
21: 6 xH0=__ 21: 67 X 91 =
222 94 x89=__ 22: 61 X 84 =
23 IAXT®8=___ 23: 90 X 78 =
24: 10X 62=__ 24: 83 X 54 =
25: 6 x64=___ 25: 78 X 80 =
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Question 25 |25 marks] Question 26 |25 marks]

0: 82 X 77 = 6314 0: H2 X 82 = 4264
L8X9®=_ 1: 99 x 60 =
22 82x8=__ 2: 89 x 61 =
32:82x7M8=___ 3: 80 X 7H =
4 THOXT8=_ 4 99 x 51 =
5 0x7M0=___ 5 63 X 79 =
6: 63 xd0=__ 6: 89 X 84 =
7. 70xbd=__ 7. 99 X 75 =
8 8 X68=__ 8: bl X 83 =
9. 62x7H=____ 9: Hd X 82 =
10 I x7"T=____ 10: 51 X 97 =
1m: 93 xdd=__ 11: 65 X 70 =
122 56 x64=__ 12: 83 X 86 =
13: 97T x M =__ 13: 75 X 65 =
14: 83 x60=__ 14: 51 X 84 =
15: 69x97=__ 15: 74 X 84 =
16: 94x88=___ 16: 84 X 63 =
1m0 x82=_ 17: 81 X 76 =
18 96 x68=__ 18: 81 X 93 =
19: 86 X 8= 19: 78 X 88 =
200 80 Xd3=__ 20: 69 x 81 =
21 1 X7 =___ 21: 98 X 67 =
22 63X 83=__ 22: 92 X 77 =
23 60 x T4 =__ 23: 69 X 68 =
24: OX78=__ 24: 86 X 85 =
25: 80X T3=__ 25: 99 X 70 =
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Question 27 |25 marks] Question 28 |25 marks]

0: 96 x 82 = 7872 0: 77 x 26 = 4312
5T xTl=____ 1: 92 X 65 =
280x6b=___ 2. 99 X 79 =
360x84=___ 3: 96 X 56 =
4 80xdH=__ 4 99 x 61 =
5 09x91=___ 5 T4 X T72=
6: Ix8b=___ 6: 96 x H1 =
78T Xx8=__ 7. 51 x 99 =
8 82x97=____ 8: D7 X 61 =
9 90x83=___ 9: o6 X H2 =
10: 87 XH3=_ 10: 72 X 73 =
1: 8 x84 =__ 11: 80 X 74 =
122 00X 76 =___ 12: 88 X 87 =
13: 69x66=___ 13: 98 X 99 =
14: b x60=__ 14: 63 X 94 =
15:92x91l=__ 15: 85 X 87 =
16: 07T X966 =____ 16: 85 X B8 =
17 62x80=__ 17: 67 x 90 =
18 90x9d5=___ 18: 95 X 61 =
19: 80xHl=__ 19: 83 X 75 =
200 69X 93=__ 20: 88 X b3 =
21: 64 xH0=__ 21: 90 X 88 =
222 69 X 87 =_ 22: 70 X 97 =
23 81 xH2=_ 23: 71 x 70 =
24: 88X Q8= __ 24: 68 X 91 =
25: T4x90=__ 25: 65 X 91 =
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Question 29 |25 marks] Question 30 [25 marks]

0: 82 x 62 = 5084 0: 83 X 296 = 4648
L 74xbd=___ 1: 68 X 66 =
28 xM3=_ 2: 80 X 88 =
34 x80=_ 3: 61 X 56 =
4: 54 x94=__ 4 98 X 76 =
5 88X TMMT=___ 5 83 X 60 =
6: 83 xH6=__ 6: 93 X 71 =
701 xd82=___ 7. 87 x 60 =
8 9WBx63=__ 8: H6 X 79 =
981 x91=___ 9: B7 x 90 =
10: 99X 7O = 10: 61 X 75 =
11: 56 X 88 = __ 11: 82 X 58 =
12296 x65=___ 12: 75 X H9 =
13:80x7M=___ 13: 91 X 63 =
14: 84x96=___ 14: 87 x 95 =
15: 983 Xx67T=__ 15: 77 X 63 =
16: 61 x83=___ 16: 75 X 74 =
17 19x8=__ 17: 67 X 61 =
1854 x9=_ 18: H7 X 63 =
19: 4x50=____ 19: 52 X 76 =
200 DT X83=_ 20: D9 X 64 =
20: 00X 77T = 21: 62 X 72 =
222 9x80=__ 22: 81 X 5l =
23 BO0X 8= _ 23: 74 X 76 =
24: 63 x80=__ 24: 51 X 73 =
25: O8 X T8 = 25: 93 X H6 =
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Question 31 |25 marks] Question 32 |25 marks]

0: 59 x 89 = 5251 0: 87 X 67 = 5829
L 7O0OX7T6=____ 1: 718 X 76 =
2 T0x89=____ 2: 88 X 65 =
32 8Tx69=___ 3: 50 X 64 =
4. 69x84=__ 4 T4 x 71 =
5 T6Xdh=___ 5 89 X 76 =
6: 6x69=___ 6: 62 x 60 =
7291 x82=__ 7. 94 X 67 =
8 T8X63=__ 8: D8 X 92 =
9: 83 xH2=__ 9: 67 X 73 =
10: 50 x 8 =_ 10: 57 X H8 =
m: 81x7M=__ 11: 64 X 62 =
12: 711 x68=__ 12: 90 X 65 =
13: 84 x589 =__ 13: 64 X 50 =
14: 66 X566 =__ 14: 99 X 56 =
15: 93X =__ 15: 99 X 76 =
16: 18X 88 =___ 16: 89 x 93 =
17: 8 x6l=___ 17: 79 X 87 =
18 94x56=___ 18: 71 X 82 =
19: 91 x60=__ 19: 54 X 69 =
200 T2X65=__ 20: 94 x 93 =
21: O x64d=___ 21: 69 X 55 =
222 T7TXH3=__ 22: 76 X 57 =
23 D2 x84 =__ 23: 59 X 67 =
24: 6 X 67 = __ 24: 90 X 58 =
25: D2 X9 =__ 25: 84 X 59 =
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